Free Questionsfor 1Z0-520 by actualtestdumps
Shared by Wagner on 06-06-2022

For More Free Questions and Preparation Resources

Check the Links on Last Page



Question 1

Question Type: MultipleChoice

You import requisitions from another system. These requisitions are imported as approved requisitions and contain references to items
in the item master and blanket purchase agreements.

What is the easiest way to automatically create orders from these requisitions?

Options:

A- Using the AutoCreate form.
B- Running the Create Releases program.
C- Running the Workflow Background Processor.

D- Running the Purchasing Documents Open Interface.

Answer:

B

Question 2




Question Type: MultipleChoice

Which three statements regarding inventory forecasting are true? (Choose three.)

Options:

A- Focus forecasting can only be generated from historical data.

B- Focus forecasting is typically used to produce single period forecasts.

C- Statistical forecasting can be generated from either historical data or master schedule entries.

D- Statistical forecasting enables you to apply exponentially weighted trend and seasonality factors to predict demand.

E- Statistical forecasting enables you to simulate various methods of calculating demand so that you can select the best forecasting
model.

Answer:

A B, D

Question 3

Question Type: MultipleChoice




The Child Lots check box is enabled at the organization item level. Which two statements are true? (Choose two.)

Options:

A- The lot splitting process is enabled by this feature.

B- The system would maintain lot genealogy with child and parent lots.

C- Child lot characteristics are completely different from that of parent lots.

D- Child lots are unique and independent lots. They are not linked with parent lots.
E- Short expiry lots are child lots. Child lots generate unique numbers across items.

F- Child lots are a subdivision of the parent lots and maintain integrity with the parent lots.

Answer:

B, F

Question 4

Question Type: MultipleChoice




Select three statements that are true. (Choose three.) The timing and frequency of running the process to transfer payables transactions
to General Ledger depends on

Options:

A- how often you need to process mass additions

B- how often you need to see balances in Projects updated

C- how often you need to run the Invoice Validation process

D- how often you need to run the Period-End Accrual process

E- how often you need to do financial reporting out of the general ledger

F- how often you need to run the Payables Accounting process to create the accounting entries

Answer:

A B E

Question 5

Question Type: MultipleChoice




Which two functional areas have default category sets? (Choose two.)

Options:

A- Planning, Engineering, Costing

B- Purchasing, Payables, Inventory

C- Inventory, Purchasing, Bill of Materials

D- Order Management, Inventory, Purchasing

E- Inventory, Bill of Materials, Work in Process

F- Planning, Order Management, General Ledger

G- Order Management, Inventory, Work in Process

Answer:

A D

Question 6

Question Type: MultipleChoice




You have an item that has four different units of measure (UOMSs) defined for usage. They are Each, Pack, Box, and Case.
1 Pack = 24 Each

2 Packs = 1 Box

4 Boxes = 1 Case

What conversions need to be established to accommodate these four relationships?

Options:

A- Each =1, 1 Pack = 24 Each, 1 Box = 24 Each, 1 Case = 96 Each

B- Each = 1, 1 Pack =24 Each, 1 Box = 48 Each, 1 Case = 192 Each
C- Each =1, 1 Pack =24 Each, 1 Box = 48 Each, 1 Case = 168 Each
D- Each =1, 1 Pack = 24 Each, 1 Box = 240 Each, 1 Case = 240 Each
E- Each =1, 1 Pack = 12 Each, 1 Box = 480 Each, 1 Case =1920 Each
F- Each =1, 1 Pack = 24 Each, 1 Box = 480 Each, 1 Case = 1920 Each

Answer:

B
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